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SN - BE - SRA(SIH) - NIRAY - BES 0 &t ol & o blnE2
EXNEEW 7,457,661 5,357,104 2,100,557
= 329,401 329,401 0
= 80,250 80,250 0
Al 7,048,010 4,947,453 2,100,557
EXE 2 275,982 260,982 15,000
= 69,000 69,000 0
= 4,875 4,875 0
Al 202,107 187,107 15,000
SEH0l EXj&2 206,167 251,167 15,000
= 69,000 69,000 0
Al 197,167 182,167 15,000
IHEZAIXRIOE AL & =& 53,500 38,500 15,000
201 L2 | 53,500 38,500 15,000
01 Ar2eltl 53,500 38,500 15,000
24.7.1. 1 HESARIIL ZAF L BES++5 15,000 0 15,000
X &ze| 137,600 144,400 26,800
= 31,320 31,320 0
Al 106,280 113,080 26,800
NESEANSFA 137,600 144,400 26,800
= 31,320 31,320 0
Al 106,280 113,080 26,800
JNESFEE T Lol 33,200 40,000 26,800
201 L2 | 15,000 20,000 25,000
01 AtR2telt] 15,000 20,000 A5,000
SEME B3 S8 13,000 20,000 AT,000
2 Bt=ZH| 2,000 0 2,000
207 A= IH ] 16,200 18,000 21,800
02 MADH Y| 16,200 18,000 21,800
FRAXNEZAM LS ALY 16,200 18,000 1,800
NEEE 2el 5%, 121 591,021 5,100
= 44,055 44,055 0
Al 552,066 546,966 5,100
S24HEE 2 NEDA 29 251,656 246,556 5,100
SAHEEXNAH 2 63,060 57,960 5,100
201 B2 AL| 37,060 35,960 1,100
01 ArR22ltl 32,500 31,400 1,100
E82 FANGAMEE SN 2 1,100 0 1,100
405 KHeHE S| 4,000 0 4,000
01 ML =ZFSHI 4,000 0 4,000
CE INIUHEE LEE 7 4,000 0 4,000
NEAZ L& gt S 6,397,401 4,307,401 2,090,000
= 260,401 260,401 0
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A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
Al 6,137,000 4,047,000 2,090,000
ARSHAXNHAY S 6,397,401 4,307,401 2,090,000
= 260,401 260,401 0
Al 6,137,000 4,047,000 2,090,000
KIHTHZEAALS 6,137,000 4,047,000 2,000,000
201 Zer= Y| 130,000 40,000 90,000
01 At 2teltl 100,000 10,000 90,000
NEWZAANY 2HEI =8 90,000 0 90,000
301 L2z 6,000,000 4,000,000 2,000,000
BOBHEd= 6,000,000 4,000,000 2,000,000
NEHEANY ZES 6,000,000 4,000,000 2,000,000
AYH2HZY(ENZE W) 50,500 53,300 22,800
Jl2&sl 50,500 53,300 2,800
Jl23tl 50,500 53,300 2,800
201 Let2ay| 39,100 44,100 5,000
R =23l 17,500 22,500 5,000
245 3323 % MAl 17,500 22,500 5,000
406 XHoHR St 2,200 0 2,200
01 A= FH =8I 2,200 0 2,200
HM=d32 7 2,200 0 2,200
Hees(EXNFE) 57 0 57
SHANE(EXNEED) 57 0 57
=THIgES 57 0 57
802 gtet=0|Et 57 0 57
02 Al - CHIEXSEHES 57 0 57
20233 =OAEHSE MA &X 6 0 6
20233 =2 HFA OHHAIE 2HIEAL & S 33 0 3
20234 FAC2HE M AR 4 0 4
20235 AtS AT NH EX 14 0 14




